L Support - BK/BF Series

1 Support Classification

-
1'1 BK 4-Xdrill through@Y counter bore depthZ =
Fixed Side B1 PR R g
p— =
ﬁJ il ,; ()
AN £
Nt >
. ]z :
g Q
=2d2 b ci.c2 ‘&
P L
B
Unit:mm
ModelNumber d1 L L1 L2 L3 C1 C2 B Hb "h “B1 HI E P d2 X Y Z .
Q
BK 10 10 25 5 29 5 13 6 60 39 30 22 34 325 15 46 55 6.610.8 5 —
BK 12 12 25 5 29 5 13 6 60 43 30 25 34 325 18 46 55 6.6 10.8 1.5 w
BK 15 15 27 6 32 6 15 6 70 48 35 28 40 38 18 54 55 6.6 11 6.5 Q
BK 17 17 3 9 44 7 19 8 86 64 43 39 50 55 28 68 6.6 9 14 85 M
BK 20 20 35 8 43 8 19 8 8 60 44 34 52 50 22 70 66 9 14 85 =
BK 25 25 42 12 54 9 22 10 106 80 53 48 64 70 33 8 9 11 17.5 11
Bk 30 30 45 14 61 9 23 11 128 89 64 51 76 78 33102 11 14 20 13
Bk 35 35 50 14 67 12 26 12 140 96 70 52 88 79 35114 11 14 20 13
BK 40 40 61 18 76 15 33 14 160 110 80 60 100 90 37 130 14 18 26 17.5
BF
Floated Side
81 4-Xdrill through@Y counter bore depthZ
| |
] L o
AN ZEi
L _CI P
4-2d2
e b 1, HH\H»
— L -
Unit:mm 5'
ModelNumber di L B H b - A B1 HI E P d2 X Y Z g
=
BF 10 8 20 60 39 30 22 34 325 15 46 55 66 10.8 5 w
BF 12 10 20 60 43 30 25 34 325 18 46 55 66 10.8 1.5 c
BF 15 15 20 70 48 35 28 40 38 18 54 55 6.6 11 6.5 g.
BF 17 17 23 8 64 43 39 50 55 28 68 6.6 9 14 85 5
BF 20 20 26 88 60 44 34 52 50 22 70 6.6 9 14 85 Q
BF 25 25 30 106 80 53 48 64 70 33 85 9 11 175 11
BF 30 30 32 128 89 64 59 76 78 33 102 11 14 20 13
BF 35 35 32 140 96 70 52 88 79 35 114 11 14 20 13
BF 40 40 37 160 110 80 60 100 90 37 130 14 18 26 175

112



Linear Guideways

Ball Screw

(<))
c
N =
(72
-
(aa}
O
©
v
c
]

Support- EK/EF Series -

1-2 EK
Fixed Side

Model Number  di L L1 L2

2-X drill through@Y counter bore depthZ
B1 B1 2-Xdrill through
] p——

[

7 D)
%w | [T17 j Tt
o rlelE | S22
b
4%
2-Xdrill through B
‘ L2 L.g‘
EK5 |
O 3
‘<_.\<_.‘
L . EK6-8 EK 10~20
L1<—~—>1<—~—>
Unit:mm

+0.02 +0.02

L3 B H b h B1 H1 P X Y Z

EK 5 5 165 55 185 3.5 36 21 18 11 20 8 28 4.5 - -
EK 6 6 20 55 22 3.5 42 25 21 13 18 20 30 55 9.5 11
EK 8 8 23 7 26 4 52 32 26 17 25 26 38 6.6 11 12
EK 10 10 24 6 29.5 6 70 43 35 25 36 24 52 9 - -
EK 12 12 24 6 29.5 6 70 43 35 25 36 24 52 9 = =
EK 15 15 25 6 36 5 80 49 40 30 41 25 60 11 - -
EK 20 20 42 10 50 10 95 58 47.5 30 56 25 75 11 - -
EF
Floated S|de 2-Xdrill through@ Y counter 2-Xdrill through
bore depthZ
B1
N
(ST -
PR S—
B
EF6~8 EF10~20
Unit:mm
ModelNumber d1 L B H b~ h - Bl HI P X Y Z
EF 6 6 12 42 25 31 13 18 20 30 5.9 9.5 11
EF 8 6 14 52 32 26 17 25 26 38 6.6 11 12
EF 10 8 20 70 43 35 25 36 24 52 9 - -
EF 12 10 20 70 43 35 25 36 24 52 9 - -
EF 15 15 20 80 49 40 30 41 25 60 9 - -
EF 20 20 26 95 58 47.5 30 56 25 75 11 - -

113

L Support - FK/FF Series

1-3 FK
Fixed Side

4-Xdrill through@Y

4-Xdrill througha¥ counter bore depthZ

counter bore depthZ L1

PCD
odi
@Dg6

‘ ’ FK 10~30

Unit:mm

Model Number d1 L H F E Dg6 A PCD B L1 T1 X Y Z

FK 5 5 16.5 6 10.5 18.5 20 34 26 26 5.5 3.5 3.4 6.5 4
FK 6 6 20 7 13 22 22 36 28 28 5.5 3.5 3.4 6.5 4
FK 8 8 23 9 14 26 28 43 35 85 7 4 3.4 6.5 4
FK 10 10 27 10 17 29,5 34 52 42 42 7.5 5 4.5 4
FK 12 12 27 10 17 29.5 36 54 44 44 7.5 5 4.5 4
FK 15 15 32 15 17 36 40 63 50 52 10 6 55 95 6
FK 17 17 45 22 23 47 50 77 62 61 11 9 6.6 11 10
FK 20 20 52 22 30 50 57 85 70 68 8 10 6.6 11 10
FK 25 25 57 27 30 60 63 98 80 79 13 10 9 15 13
FK 30 30 62 30 32 61 75 117 95 93 11 12 11 17.5 15

FF

Floated Side

4-Xdrill through@Y counter bore depthZ T ]

AN

e
N

©

o y
¢ HILE

& L

/ Unit:mm
FF 6 6 10 6 4 22 36 28 28 3.4 6.5 4
FF 10 8 12 7 5 28 43 35 35 3.4 6.5 4
FF 12 10 15 7 8 34 52 42 42 4.5 8
FF 15 15 17 9 8 40 63 50 52 5.5 9.5 5.5
FF 17 17 20 11 9 50 77 62 61 6.6 11 6.5
FF 20 20 20 11 9 57 85 70 68 6.6 11 6.5
FF 25 25 24 14 10 63 98 80 79 9 14 8.5
FF 30 30 27 18 9 75 117 95 93 11 17.5 11

114

sfemapino Jeaul

MalJdg ||eg

=
S
M
Y
q
o)
c
W
>
S
Q



Support - AK Series L Support - AF Series

a 1-4 Support Unit AK Support Unit AF -
. . . =)
g (fixed-side rectangular type) (Supported-side rectangular type) o
Q
(V] —
e] Park No. Part name Qty )
.5 1 Housing 1 -
u 2 Bearing set E-'
— 3 Holding lid 1 D
(¢} 4 Collar 2 E
v 5 Seal 1 Q)
.E 6 Lock nut set <
— 7 Hexagon socket-head 2 v
seiscrew
d=6~8
N 2-d1 drill through
L3 L2 @3
; % d2 counter bore depth g-;
w .-/ —
. — ; { —
(¥ _— S —
m =—r e _ a g x
=<
— L. @ = 2-drill through8Y bore depth Z N (2) -
© a’ [L2[L2 % 2-0drill througt PhZ D D ¢ )
1T T 8 [ = N 17
il P | —o U
22 | 1 T L ‘ ]
2-d1 drill through 10 1 lr' 0 T % LN i ¥ ! ‘,BI |
d2 counter bore depth 4 mounting holes " s - J ll T
T ! !
I ! |
! 1 + ’ Lt
N ==y et P t
: P D | ‘I: ' 1 i . i X B
4) (6) | HERER
LRy - [6=25 > 9_| [30] | 9
L L =
— d25 unprocessed 4 mounting holes
Unit:mm Unit:mm
Oil Seal
Model Shaft M - Shaft b h
gameer L L1 L2 L3 B H h BT HI P di d2 e T (Applicable Model Sha Weidht
Number a1 (SCI‘eW thread) 2415 cf@ ) N b diameter L B H B1 H1 P X Y 7 Bearing Snapping g
- umber g4 (kgs)
+0.02 *0.02
AK6 6 20 - 225 35 42 25 13 18 20 30 55 9.5 M6x0.75 12 -
? AKS8 8 23 - 26 4 52 32 17 25 26 38 6.6 11 M8x1.0 14 10 AF10 8 20 70 43 35 25 36 35 52 9 14 11 60827 S08 0.37 :
11.54
‘-E 40 22 32 14 AF12 10 20 70 43 85 25 36 85 52 9 14 11 600022 S10 0.37 g
11
[7,) AK10 10 43 25 35 M10x1.0 17 12 AF15 15 20 80 49 40 30 41 40 60 9 14 11 60022z S15 0.45 Q
- 24 6 29.5 6 6 36 52 9 14 14 -
AF20 20 26 95 58 47.5 30 56 45 75 11 17 15 620422 S20 0.75
Q AK12 12 a2 %3 o
|- 43 25 85 M12x1.0 19 15 AF25 25 30 105 68 52.5 35 66 25 85 11 - - 62052z S25 0.95 c
© 46 26 36 wn
(<)) AK15 15 25 6 38 5 80 48 28 41 38 60 M15x1.0 22 20 E-.
.E 50 . 40 11 17 15 Note: =
] AK20 20 42 10 52 10 95 58 56 45 75 M20x1.0 30 25 The use of (prefix 6) deep groove ball bearing maximum axial clearance of 0.05-0. 01mm. (o]
AK25 25 48 13 59 14 105 68 35 66 25 85 11 - - M25x1.5 35 31

Note:

1.The use of C7( prefix6) deep groove ball bearing maximum axial clearance of 0.05-0.1mm.
2. The use of C5( prefix7) by pre-loading angular contact bearings, axial clearance 0.

3.The bearing is made of German brand, which is assembled by DF.

115

116



Support- BK/FK/EK Seriet o5 L Support- BF/EF /FF Series

wn 1-5 Recommended ball screw end machining size Recommended ball screw end machining size —
> . . . —
S Fixed side Floated Side r=|>
= " =z} m Y
1) S I i A =
\ . :
© < ﬂ@i: ﬂgi W@ ()
= IS IS —— wﬁi wﬁi lﬁ, :
O I o T T & o
IS
p
= & S ®
[J) Type FF Type EF Type EF E
: Type BF Q)
© S <
] w
e el Ball Screw shaft OD Shaft Support Portion OD
F E Number PP
Unit:mm Type FF Type EF Type BF d A
; Vodel FF10 EF10 BF10 12/14/15 8 o
2 Nu?nbeer Ball Screw shaft OD Shaft Support Portion OD Metric screw thead FF12 EF12 BF12 14/15/16 10 9_)
W FF15 EF15 BF15 18/20 15 W
o Type BK d A B E F M S FF17 - BF17 20/25 17 2
— BK 10 12/14/15 10 8 36 15 M10x 1 16 FF20 EF20 (BF20)NOTE 25/28/30 20 D
o BK 12 14/15/16 12 10 36 15 M12x 1 14 FF25 - BF25 30/32/36 25 s
BK 15 18/20 15 12 40 20 M15x1 12 FF30 - BF30 36/40 30
BK 17 20/25 17 15 53 23 M17 x 1 17 . . BF35 40/45 35
BK 20 25/28 20 17 53 25 M20 x 1 15 . . BF40 50 40
BK 25 32/36 25 20 65 30 M25x1.5 18
BK 30 36/40 30 25 72 38 M30x1.5 25 ~ Note: ] o
< o In this table, dimensions in parentheses are those of
BK 35 45 35 30 81 45 M35x1.5 18 s o type BF20 These dimensions differ from those of
BK 40 50 40 35 93 50 M40x 1.5 35 I A type FF20 and EF20. When placing an order, always
- specify the model number of the Support Unit to be
S) used
Unit:mm 014 |
Model Go
ode Ball Screw shaft OD  Shaft Support Portion OD Metric screw thead Fio®
Number
E
Type FK Type FK d A B E F M S}
FK 6 EK6 8 6 4 28 8 M6 x 0.75 8 Unit:mm
FK 8 EKS 10/12 8 6 32 9 M8 x 1 10
? FK 10 EK10 12/14/15 10 8 36 15 M10x 1 11 Snap-ring Groove :
o— FK 12 EK12 14/15/16 12 10 36 15 M12x 1 11 =
-: E B F G m
vy FK 15 EK15 18/20 15 12 47 20 M15x 1 13 Q)
= FK 17 ; 20/25 17 15 58 23 M17 x 1 15 10 7.6 7 0.9 ;
o) FK 20 EK20 25/28/30 20 17 62 25 M20 x 1 17 11 9.6 8 1.15
S c
© FK 25 - 30/32/36 25 20 76 30 M25x1.5 20 13 14.3 ° 1.15 v
v FK 30 . 36/40 30 25 72 38  M30x1.5 25 16 16.2 12 1.15 =
E 19(16) 19 14(12) 1.35 =
— 20 23.9 15 1.35 o
21 28.6 16 1.75
22 33 17 1.75
23 38 18 1.75

117 118



Support- WBK Series - = Support- WBK Series

wn 1-6 WBK High Load Support Par No. Partname aty WBK High Load Support -
> -
© 1 Housing 1 =
()
q;) (H option) 2 Bearing 1 set Q
q
4-pdp QPCD ¢V
.-E 3 Holding lid 1 " both sides m
= | c
1]
u 4 Collar 2 - H o
= 4-pdpQPCD OV __ | q°)
8 5 Seal 2 both sides 11.85 E
69/ |
c 6 Lock nut 1 set Q
par P
Hexagon socket—head
7 Setscrew 4
"8-X drill Y counter bore depth Z PCDbW
6-Xdrill @Y counter bore depthZ PCDodW
; @\ @ Shaft diameter @d < 30 Shaft diameter @d>35 / g-;
8 \ f{ / //@ —_
(@] | / Zﬂ@% W
W H--p- \\ } @ ® : : -4
— I ///\ﬂ U ] - o ] 7}7 @\\ L L3 '\L ] i o =
© BRSNS RS ~ i . ! s M
(aa] VLT fop S J/ E / " =
s o s O CRREL / H | e
| | A2 T J/:/
T2 7 vt 7 | | !
{(/ %?fg‘ ///‘rﬁ‘/ﬁ D g6 ¢d1—77777777777777‘#7774‘7777****vzd¢dl $D2 9D1 FE: L3
il /f7/,71"/7 /IZL . — T i S " I
7 - 7z / 7] D g6 a1 sbagso0z oD B ]ﬂ QUL
Fy N i Ve Y2 /,,lJ: i L 1 .
S G - T ock nut
EZZI¥ QE::\iJ '
I ! od
I ! i
! I N 1 1 R U S
! | L4
L2 L2 L2 L2
L L L
Dimensions of shaft end
DF assembly DFD assembly DFD assembly
Unit:mm
cniemm Model Basic d ic load rati Permissibl ial load Preload Axial rigidity = Starting t Lock nut pimensionscfsraftend
R g B asic aynamic loaa rating ermissible axial loa reloa Xlal rigiaity tar Ing torque Weight
Model Dimensions of support unit Number Calkgf) (kg (kgf) (kgf/um) (kgf-cm) M D3 13 & g | 14 L5
Number d D D1 D2 L L1 L2 A w X Y Z d1 | Vv P Q H WBK 17DF 2240 2710 220 75 1~1.9 M17x1 37 18 197 17 81 23
m WBK 17DF 17 70 106 72 60 32 15 80 88 9 14 | 85 45 3 58 M5 10 M6 WBK 20DF 2240 2710 220 75 1~1.9 M20x1 40 18 197 20 81 23 |
c WBK 20DF 20 70 106 72 60 32 15 80 88 9 14 85 45 3 58 M5 10 M6 WBK 25DF 2910 4150 320 100 1.6~29 33 89 5.
‘_E WBK 25DF 66 33 WBK 25DFD 4700 8300 440 150 22~4 M25x15 45 20 385 25 104 26 D
N WBK25DFD 25 85 130 90 81 48 18 100 110 11 17 11 57 4 70 M6 12 M6 WBK 25DFF 4700 8300 640 200 28~5 a4 119 Q
g WBK 25DFF % | 48 WBK 30DF 2980 4400 340 105 17~3 34 89 ;
WBK 30DF 66 33
WBK 30DFD 4850 8800 460 155 2.2~4 M30x1.5 50 20 37 30 104 26 c
} S WBK 30DFD 30 85 130 90 81 48 18 100 110 11 17 11 57 4 70 M6 12 M6
(o} WBK 30DFF 9 48 WBK 30DFF 4850 8800 680 205 2.9~5.2 4.4 119 wn
v WBK 35DF 66 33 WBK 35DF 3150 5100 390 120 1.9~3.5 3.75 92 E-.
E WBK35DFD | 35 95 142 102 81 48 18 106 121 11 17 11 69 4 8 M6 12 M6 WBK 35DFD 5150 10200 530 175 25~46  M35x15 55 22 44 35 107 30 =
- WBK 35DFF 96 48 WBK35DFF 5150 10200 780 240 3.3~6 5 122 Q
WBK 40DF 66 33 WBK 40DF 3250 5300 400 125 2~37 3.65 92
WBK40DFD 40 95 142 102 81 48 18 106 121 11 17 11 69 4 80 M6 12 M6 WBK 40DFD 5250 10600 540 185 24~40 M40x1.5 | 60 22 43 40 107 30
WBK 40DFF % | 48 WBK 40DFF 5250 10600 800 245 3.4~62 5 122
Note: Note:
Inside bearings use high precision P4 grade TAC 60 degree contact ball bearing. Dimensinons with * mark can be used for dust cover and damper installation.
1 1 9The standard type is without H,if required,please advise in advance. About Its correct position, please contact SYK. 1 2 O



Support- DSG Series L

1-7 DSG Ball Screw Nut Support

W
>N
g 60°

6

. . 30
v % 5 R L e S
© ﬁ( F o ! =Y Ji
omm ] i W ) > W >
s = R = D=
O w ‘ Q Q
| S [al o0 m m
8 _ _ I _ I
c o° ‘ o° - o° g
— T % N Q\C%%f Tg\@@&

“TNE T

cil c2 E
L “J h E h E h
H H H

5 DSG DSG...H(D 32) DSG...H(D 40 )
}
= Model
) oce Suitable Nut D B H h E L ¢ 2 P X W Y
— Number
© DSG12H | SFU1204,SFS1205 321 50 35 17.7 - 36 8 24 36 M4 32 M4
P .

SFU-1604,1605,1610

DSG16H 28 52 40 20 12 40 8 24 40 | M5 38 M5
SFS-1610,1616,1620
SFU-2004,2005

DSG20H 36 62 44 | 22 12 40 8 24 | 48 | M6 | 47 M6
SFS-2010,2020
SFU-2504,2505,2510

DSG25H 40 | 66 48 @ 24 13 40 8 24 50 M6 @51 M6
SFS-2505,2510,2520

SFU-3204,3205,3210

DSG32H | SFS-3205,3210, 50 86 62 31 17 40 8 24 | 66 | M8 | 65 M8
3220,3232

SFU-4005,4010,

o DSG40H  SFS-4005,4010, 63 100 80 | 40 / 59 95 40 78 @ M8 78 @ M8
.E 4020,4040
=
7 SFU-5005,5010
- DSG50H 75 | 120 @ 90 | 45 / 60 10 | 40 100 M10 93 | M10
(a'a] SFS-5020,5050
b S
8 DSG1616 SFE/SFY-1616 32 55 40 @20 6 27 6 15 | 46 | M4 42 M4
.E DSG2020 SFE/SFY-2020 39 66 47 23575 35 | 75 20 56 (M5 50 @ M5
—
DSG2525 SFE/SFY-2525 47 80 55 27.5 10 @ 34 7 20 68 M6 60 @ M6
DSG3232  SFE/SFY-3232 58 95 66 | 33 10 55 | 10 | 35 82 | M8 | 74 | M8

121



	页 59
	页 60
	页 61
	页 62
	页 63
	页 64

